[FRI8SHZR]

REEM: §RT

HEEH SA%E~6A%E

/INFEAEAE (Fiad - )

E R4/ R A NIT—~ 57 68
= R HE i | BF | siF | &F
dtiEE S 702
BEEA FRISSHR G —> EF = 480
FHBEX) & S 432
FRINTHR S RIAR TtiEE = 1,080
- e M2 3% Xv> | 580 | 580
Eﬁ% VRINPUNRTIV=2 Wi 100525 | /5w | 780 | 780
FRAINGHR S RIA- e 100g = 580
o e . dtiEE 100g23R Ih 1,500
o
BHEEC TRNGHR T —> tEE 1006238 | /39D 1,800
(FRRX) FRINSHR/HRTA+ i 1002238 1"y 2,160
SZFRINSHR G —> L I\ 680
KEEHEA | TAATHR G- | LEE = 597
(SIﬁE) _ ”—Iﬂ'? EE 321
FRINTHR S RIAR tiEE = 429
FRINSHR S H)—> A E 518
=

AEERIEC 3R oA A | dmE = 518
SZFRIND RiG L3 429
SHEBRED | FRATHR TU— :Ilz;ﬁiE /\0\21’7 429
(:":IZ) - EET /\‘J7 213
TRINSGHR/TRITAk tiEE A 645




